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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@ 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Incidence of carrying of calculator/mobile/any
electronic  device/objectionable material will be
treated as unfair means case.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.







Subject Related

TSET AET TIETUT ATl (TARET) Fr
Afeat & Ffeed Redr & yqwor &
YA & T o) foham arm &

a) SEAY

b) I

c) HgleTer

d) FHT

HRC T T T 1Y ¢
a) HTEST AANET §1Y (YTe)
b) ERTHS &Ter (3Mf=m)

c) TITERET S (efieah)
d) SeleTs S (ATAS)

fArfaf@d & @ ol @z & T® & gig
FT HROT 6T &?

a)aﬁ?ﬁ'ﬂﬂ

b) T FH Tl

) gl o

d) I3 9

o e o R SRER R S 8
a)m

b) shdTsT

c) I

d) FATSes faarsH

37TCUeRr 3MMETeleT - gfeyoly IRa & ool
TReqorT H g3 o

a) 1972

b) 1973

c) 1983
d) 1986

Teadd IR & ol 910 ST o
a)mﬂﬁﬂ

b) STSNfeTS g8els

c) e [T

d) 3R SfaaT

1.

National River Conservation Plan (NRCP)
implemented for abatement of pollution in
identified stretches of rivers excluding those
in basins of

a) Brahmaputra

b) Ganga

c¢) Mahanadi

d) Yamuna

TheoldestdaminIndiais

a) BhakraNagal Dam (Punjab)

b) Hirakud Dam (Odisha)

c) Tungabharda Dam (Karanataka)
d) Kallanai Dam (Tamil Nadu)

Which of the following is NOT a cause of sea
levelrise?

a) lcemelt

b) Increasing Gulf Stream

c) SinkinglLand

d) Warming water

The “Love Canal Tragedy” is linked to history
of

a) America

b) Canada

c) France

d) United Kingdom

Appiko Andolan - the forest conservation in
the Southern India took placein

a) 1972

b) 1973

c) 1983

d) 1986

The 'Selvas' type of forests are foundin
a) Amazon basin

b) Brazilian highland

c¢) Congo basin

d) Orinoco basin
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Characteristic that allow living organism to
survive inthe condition of its habitat is

a) Acclimatization

b) Adaptation

c) Adaptive variation

d) Adjustment

Leslie matrix (also called the Laslie model) is
related to

a) Behavioral ecology

b) Community ecology

c) Landscape ecology

d) Population ecology

Disequilibrium Theory of ecological succession
is given by

a) FEClements

b) HCCowles

c) FEgler

d) HAGleason

Lotka—Volterra equations is the most closely
related to

a) Commensalism

b) Competition

¢) Mutualism

d) Predation

The process of Vernalizationis practiced in
a) Cold countries

b) Sub-tropical countries

c) Tropical countries

d) Warm countries

Which one of the following statements about

the Coriolis Force is NOT correct?

a) It deflects the wind to the right direction-
inthe northern hemisphere

b) It deflects the wind to the right direction-
inthe southern hemisphere

c) ltisabsentattheequator

d) Itismaximum atthe poles
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What is the height range of Cirrus clouds in
Tropical region?

a) Below6,500ft

b) 6,500-25,000 ft

c) 20,000-60,000 ft

d) Above 60,000 ft

Which one of the following is not a reason for
environment destruction?

a) Globalwarming

b) Inequitable consumption of resources

c) Overpopulation

d) Unequalaccesstoresources

What do you understand by the term 'roaring
forties'?

a) Adangerousriverof china

b) Biggest waterfallin the world

c) Majorcurrent of the Atlantic Ocean

d) Thewesterly winds

Identify from the following which is NOT a
measure of human development?

a) Consumer expenditure

b) Health care facilities

c) Lifeexpectancy

d) Literacyrate

Lincolnindex measures

a) Populationdensity

b) Population morality rate
c) Population natality rate
d) Populationsize

Which law states that the specific heat of a gas
remains constant at all temperatures and
pressures?

a) Boyle'slLaw

b) Charles' Law

c) Joule'slLaw

d) Regnault'sLaw
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The point just vertically below the observer's
(camera) position, in celestial sphereis called
a) Celestial point

b) Nadir

c) Pole

d) Zenith

Which of the following statements about

Global Position System (GPS) is NOT correct?

a) Absolute positioning, where an accuracy
of 1cm to 5cm is needed, depends upon
the health of the satellites

b) Atomic clocks are fixed in satellites to
calculate the position of the satellite to aid
in determining travel times.

c) The position of an object can be exactly
determined by any one satellite.

d) The position of moving person or vehicle
on the ground is determined by an
orbiting satellite.

Which of the following statements is NOT

correct?

a) BOD value of clean water is less than 5
ppm

b) C,Sand N oxides are the most widespread
air pollutants

c) DO concentration below 5 ppm is ideal for
the growth of fish

d) Drinking water pH should be between 5.5-
9.5

Green Chemistry mean reactions that

a) Arerelatedtothe depletion of ozone layer.

b) Produce colourduringreactions.

c) Reduce use and production of hazardous
chemicals.

d) Studythereactionsin plants.
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a) CFC>CH,>N,0>CO0,

b) CFC>CO,>N,0>CH,

¢) CFC> N,O > CH, > CO,

d) CFC >N,0>C0O,> CH,
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Which of the following order of Green House
Gases (GHGs) is correct based on Global
Warming Potential (GWP)?

a) CFC>CH,>N,0>CO,

b) CFC>CO,>N,O>CH,

c) CFC>N,0>CH,>CO,

d) CFC>N,0>CO,>CH,

The 'Slash and Burn' agriculture is known by
different names in different parts of the
country. Which among the following name is
NOT correctly matched with its respective
country?

a) ConucoinVenezuela

b) LadanginVietnam

¢) MilpainMexico

d) RocainBrazil

As per Ministry of Jal Shakti, based on
agroclimatic features, particularly soil type,
climate including temperature and rainfall
and its variation and water resources
availability, India is broadly divided into how
many zones?

a) 12

b) 15

c) 17

d) 19

In which type of chromatography, the
stationary phase is held in a narrow tube and
the mobile phase is forced through it under
pressure.

a) Columnchromatography

b) Gaschromatography

c) Liquid chromatography

d) Planarchromatography

As per IUPAC, a process of contact and
adhesion whereby the particles of a
dispersion form larger-size clusters is called

a) Agglomeration

b) Coagulation

c) Flocculation

d) Sedimentation
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28. A series of 3 colored glass plates of equal
thickness are placed in a light beam. Each
sheet absorbs one quarter of the light incident
upon it. What is the intensity of the light
transmitted by the third glass plate?

a)

1.56%

b) 42.19%

c)

56.25%

d) 75.00%

29. Which of the following compounds does not
absorb lightin the UV/visible spectrum?

a)
b)
c)
d)

Aspirin

Chloral hydrate
Paracetamol
Phenobarbitone

Which one of the following properties of

carbon is perhaps the least important to a
pharmacist?

a)

b)

A number of allotropes of carbon are now
familiar - initially just diamond and
graphite were known, though more
recently, buckminsterfullerene and
grapheme have also been reported
Carbon is able to bond to itself and form
chains of atoms (it is able to catenate) in a
way that few other elements can

Carbon is able to bond to many other
elements in the periodic table and hence
become a part of a very wide range of
organic compounds

Carbon is able to form single, double and
triple bonds with a neighbouring carbon
atom, affecting the shape (and other
properties) of the resulting compounds
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Which of the following chemical processes
results degradation of Unsaturated fatty acids
resulting fats and oils to taste and smell
rancid?

a) Bromination

b) Hydration

c) Hydrogenation

d) Oxidation

The phenomenon of occurrence of additional
species found in the ecotone or transitional
zone between adjoining ecosystems s called
a) Coolidge effect

b) Edge effect

c) Raman effect

d) Rooteffect

Which of the following are correctly matched
with respect to Agriculture Revolution?

1. GreyRevolution-Egg Production

2. PinkRevolution- Poultry

3. RedRevolution- Tomato Production

4. Yellow Revolution- Fertilizer Production

a) land3
b) 2and3
c¢) 2and4
d) 3and4

The species, though insignificant in number,
determine the existence of many other
species in a given ecosystem. Such species is
known as

a) Charismaticspecies

b) Indicatorspecies

c) Keystonespecies

d) Umbrellaspecies
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35. A housewife ingests a rodenticide white

powder accidentally. She is brought to
hospital where the examination shows
generalized, flaccid paralysis and an irregular
pulse. Electrocardiogram shows multiple
ventricular ectopics, generalized changes
with ST-T. Serum potassium is 2.5 mEqg/L. The
most likely ingested poisoniis:

a) Aluminium phosphide

b) Bariumcarbonate

c) Superwarfarin

d) Zincphosphide

. Ananda Chakraborty received the first U.S.

patent fora GM entity. The entity was

a) A transgenic mouse expressing growth
hormone gene

b) ClonedE. coli

c) Pseudomonas engineered to degrade
petroleum

d) The Goldfish

. Quality of an ecosystem can be gauged using

(a) Bio-remediator
(b) Bioindicator
(c) Decomposer
(d) Predator

. BlAcore is used to detect a ligand binding to a

target. What is the name of the phenomenon
used in this detection procedure?

a) Electronspinresonance

b) Nuclear magneticresonance

c) Scintillation proximate assay

d) Surface plasmonresonance
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Ecological restoration is the process of

rebuilding a degraded ecosystem till

a) ltbecomesfree of disturbance

b) It becomes pollution free and provides
solacetothe people

c) It starts providing some ecosystem
services

d) Itsstructure andfunctionsare restored

The text 'A Revised Survey of the Forest Types
of India'is written by

a) HGCampionand SKSeth

b) JPPascaland G Hunneyball

¢) VHMeher-Homji and Madhav Gadgil

d) WARodgersand SHPanwar

Thick lenses give coloured images due to
a) Diffusion
b) Dispersion
c) Reflection
d) Refraction

Who s considered as father of GIS
a) JBCambell

b) JRJensen

c¢) MF Goodchild

d) RFTomlinson

Nuisance growth of aquatic plants and bloom-
forming algae is natural waters is generally
dueto high concentrations of

a) Calcium

b) Carbon

c) Phosphorus

d) Sulphur
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¢) TH AR A
d) I 3R AR

AdATolfeier SFEIRAT 18T UTT ST g
a) fha s

b) Ul & X 1A & TWdl & A
c) M} AT §IF

d) FAATAT T TAA

fafof@a & @ &l a1 #Agsd 99 A
& foar Afaa gar &2

a)a'@'

b) T

c)%ﬁ

d) RIS
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44,

45.

46.

47.

48.

49,

The active chemical drug reserpine is
obtained from

a) Atropa

b) Datura

c) Papaver

d) Rauwolfia

One of the world's most problematic aquatic
weed called as Terror of Bengal is

a) Azolla

b) Eichhomia

c) Trapa

d) Wolffia

The process by which an originally homogenous
Earth developed a dense core and a light crust
is called

a) Accretion

b) Compression

c) Differentiation

d) Metamorphism

The asthenosphereis
a) Coolandstrong
b) Coolandweak
c) Hotandstrong
d) Hotandweak

Methanogenic bacteria are not foundin
a) Activatedsludge
b) Bottom of water-logged paddy fields
c) Gobargasplant
d) Rumen of cattle

Which of the following alcoholic drinks is
produced without distillation?

a) Brandy

b) Rum

c) Whisky

d) Wine



50.

51.

52.

53.

faw I # 93 8¢ __ gaRT 910 I g

a) I3 AT H FleeT SBAHFASS FHI 3cUTCA
YA drel Sfiary

b) 3cdried HIY I & Jeofel A Siraroy

c) sk S IAITY Ifafafear & g
aga ARy A F oI @

d) FefieT f3feier

. Bigholesin Swisscheesearemadebya

a) Bacterium producing a large amount of
carbon dioxide

b) Bacteriumthan produced methane gas

c) Fungusthatreleasesalotofgasesduringit
metabolicactivities

d) Machinedrilling

Research Methodology

Reefehel IHIJIT HI & T 7 o
SATAT ST &

a) TSl IHIAT

b) BT FAc FHesl

c) SA-CHEC IHITHT

d) e Heer

FAtaf@a & & &l oY Afaswar &
Sooitsl & T SIS 6T 82

a) 3¢T SgT&AT

b) FFEAT fA&TOT

C)Wﬁﬁw

d) GIRT GaRT IR fahw 1w eier suahyoi
HT 3YANT AT

T AMYHdl g IR fU 7w gfieor &

A # fAeAfai@d & ¥ FiT a1 FoeT

gHAT T gIem &2

a) Ife HIS TeTT Tafdd &, I8 du §

b) TfE IS gdlefor faeaay &, ar I8
TS &

c) g FIg TeTor dY R WAFG g, ar
g 99T A9 §

d)gﬁ HIS JAETT I g, AT Ig TaRaw=iT

11

. Parenthetical Referencingis also known as

a) Endnotereferencing
b) FootNotereferencing
c) In-textreferencing

d) Titlereferencing

. Which of the following is NOT considerable

scope of violation of research ethics?

a) Datalnterpretation

b) Problem formulation

c) Reporting of results

d) Usingresearchtools prepared by others

. Which of the following statements is always

true in the case of a test prepared by a
researcher?

a) Ifatestisrelatable,itisvalid

b) Ifatestisreliable,itisobjective

c) Ifatestisvalidandreliable,itisusable

d) Ifatestisvalid,itisreliable



54.

55.

56.

57.

58.

AIfof@d & & &l ar g & tH
fae T &

a) SINId | ST

b) BXHT & FIAT

c) aifgfcas Oy & s9=r

d) TRaeir SIeThRT & SaeT

frifaf@a & @ i seqdue Afdwar &

T gad F7 Hdea1efe g2

a) fordll &1 NfAE & Trda & v Agia
T gaTell & §¢

b) 3eT faeevor 3R =arEar

¢) FHEIT R T 3R 38 afda W
$r ggdTeT el

d) ey gRoTAT HT ROIEar 3R 390 gema

T & aRFUfa 7 v 99T A aR-ER
FeT T IRONH g IR TATT g §, 59
UhR QAT g

a) grATOIS

b) 322

c) faeaar

d)ay

QMETehdT T SITET 200 TATT & 3T Tha
AT AT, AfheT FH TAT 3R F& 3
FRUT H 98 hdod 185 TATAT I 3eT Thd
Il H F&TH UT| I Tehd fohT 91T 3T &l
qfed T 3FTAT FHIA U AT 15 3eT
faig3il Y X AT &1 Tg AHT &
a)?ETEI'\UﬁFIT

b) faAToT

c)ﬁf%w

d) arfefeas andy

ARG gt & foT 3w refad
T&ITcHAS aiofeds AMNT-UsAT ggdred
HEAT & AU JRISET Al JEdeh

AT (TSTHETA) FEAT T odlS §

a)11

b)12

c)13

d) 14

12

54.

55.

56.

57.

58.

Which of the following is an unethical practice
inresearch?

a) Avoidingduplication

b) Avoiding manipulation

c) Avoidingplagiarism

d) Avoidingreliableinformation

Which of the following is the least vulnerable

toresearch ethics?

a) Citingatheoryinsupportof one'sthesis

b) Dataanalysisandinterpretation

c) Problem formulation and identifying the
variablesinvolved

d) Reporting of research results and their
implications

On conducting an experiment repeatedly
under the same conditions, the outcomes are
similar every time, thus the research will be
a) Authentic

b) Objective

c) Reliable

d) Valid

The researcher intended to collect data from
200 locations, but due to lesser time and
some other reasons, he was able to collect
data from only 185 locations. S/He completes
the remaining 15 data points on her/his
following the trend of collected data. Thisis a
case of

a) DataCompletion

b) Fabrication

c) Falsification

d) Plagiarism

The length of 'International Standard Book
Number (ISBN)' number meant for digit unique
numeric commercial machine-readable
identification number for monograph
publicationsis

a) 11

b) 12

c) 13

d) 14
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60.
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62.

frfafad & & g 47 7 W & &
Ter fohar ST Tt &2

a) 3Tarer YA

b) ATHATT FT JHAT

¢) AT YA

d) 37T YT

rATf@T # & Sl 2MeT FTROT Fr
HqEY 919 QT &?

a) lgX1a

b) TFACTLlT

c) fArzgeoT

d) gTHT

Afas ¥ & Riderie cagar
a) Fifciehdl WY JHTHUTT & Holdel §

b) AT TT & @ 3R AT T I &
¢) Ueh MUl & ®q H JHUA & Al
3R 3R afgdr 3R cgaeR & IR A

R &7 & Qar &
d) % dreer & Sgd T S A §

Teh Qe Y& o Hel cled a1 g7

a) FRISRY TRILT; lfecT HT gHAET; SeT
gohgT; forshs; a1y

b) UR=; 3iehsT HIGT; ST faReIwoT; foyseny
AR famrfer

c) IRERT; ifged 1 FHeT; reTaeTe
feranfafer; aRome; ==t 3k oy

d) 3THT ATSTaT; 3THeTe SeT; faRelwor;
ot
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In which of the following scale variable cannot
be ranked?

a) Intervalscale

b) Nominalscale

c) Ordinalscale

d) Ratioscale

Which of the following is NOT a cardinal sin of
theresearch conduct?

a) Duplication

b) Extrapolation

c) Falsification

d) Manipulation

The ethically reflective practitioner

a) Engagesinresearchon ethics

b) Is particularly bound by rules and
standards

c) Thinks critically about the standard of
research and code of conduct and
behaviourasaresearcher

d) Wastesalotof time just thinking

What are the core elements of a dissertation?

a) Executive Summary; Literature Review;
Data Gathered; Conclusions; Bibliography

b) Introduction; Data Collection; Data
Analysis; Conclusions and
Recommendations

c) Introduction; Literature Review; Research

Methodology; Results; Discussions and

Conclusions

Research Plan; Research Data; Analysis;

References

d)



63.

64.

65.

AT Afderdr R FAaT S5 garr

faftrae 3T v aler &1 Hareled sid

AT, o gfamiRt & 3cak ¢ 9X 3mafed

Trl?ﬂé,ﬁﬂ#a‘qu fFdaTd U AT §

IR T 9T F M1 AT I¢ FT TR B

g ATHS A gfaenfaar & Far

SeaeRar g

a) STQsNiaAT T F1S FFASRY 8 &3
ot off T3 ST @oha §

b) FARMcHS: FF & QW A & faw
SFTFRTT 9T Tt & forw Fgeaqot &

) 3R o & 3R eie d¢ Fa &
T Tasdreior &

d) GEATTT Afdshar IR FHem ais Fi
RArE ¥

Jg MY S A 3dei™C &t dlell gcall &
Ty IRaR 9red el & JaTSd &, Hgoldl
e

a) GUTATCHS

b) STIIAIECH

c)34§raqaanr

d) @rerqut

g Rgra owe gfaenfaar & aefiery & i
[ETH el & foIT e & R A
ST ST dIgT, HEercl §

a)'s‘fl'—%qlﬁT

b) g FeAfa

c)ﬁﬂﬂﬁ'ﬁﬁ'ﬂ'ﬁﬁ

d) EEIicHed Jate
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While conducting aresearch duly approved by

institutional ethics and review board, two

participants object answering which they

consider to be too personal questions and

they want to cease participating in the

experiment. What are the responsibilities of

participantsinthis case?

a) The participants have no responsibility;
they canleave atanytime

b) To complete experimental session as the
personal questions are important for
science

c) Give explanation for not answering and

ceasing participation.

Report to institutional ethics and review

board

The research that deals with gaining family
with a phenomenon giving new insights is
called

a) Descriptive

b) Diagnostic

¢) Empirical

d) Exploratory

The principle wherein participants should be
told about the research to enable participation
iscalled

a) De-concealment

b) Informed consent

c) Participantdecision-making

d) Revelation management



66.

67.

RAFATIRT I F T hieT TT AT &2
a)qu»‘rua’mﬁa?ﬁa:gﬁrw:ﬁ

faeRor & e FEg Aia afAd € qeg F

AR Tareror, goggh & & faeror 3k
T faROT| Ycdeh & OTE HAT HEAT
H Taa=ar $r e g §

b) GT-d Telal & Tl & el AT A faeRor
& il fET oid fAer & sfiaw-aeg
fareroT, dra-aag faeror 3R guer faeror)
g & 9T TFAAAT T 33T Fr 3ger
&I g Bl

c) TehcRWT Usitar # aaif o el Trar &
feetar & a1 A&T A MAS §: T &
MR Weatcr AR Tt & o e
Il o 9 FATH &A1 H§ TadIdT &I
f3alr gichr 81

d) TheRWI TAtar H @it & el FT &
faeRor & o A&y 9 afAd 8 W &
MR faeRor 3R Foggt & e faeron
g & IIF Tadadr $r 33t dr el
&I g Bl

Wa@%ﬂﬂ%ﬁvwm
Tiewior &7 anfAa §

a) ATcA-IsT FT T gfshar fo@s ershdr
ITHYTST fsham H 39el ${fAR
gfafafea sar &1

b) 3T &R & foIT AW geasit & 31T &
T el S 3¢ (o7 o ¢

c) ST i @ 37eTT, 3refand ﬁqu
HAY IAd HeT|

d) Sferarer wifkaha fAgid 1 39T 3
At & FHAT § S faeRoT-agEd gl
AT @ifehd I B
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67.

Which of the following statementsis TRUE?

a) In one-way ANOVA the total sum of
squares comprises three main sources of
variance: within-groups variance,
between-groups variance and information
variance. Each has the same number of
degrees of freedom.

b) In one-way ANOVA the total sum of
squares comprises three main sources of
variance: within-groups variance,
between-groups variance and information
variance. Each has its own number of
degrees of freedom.

c) In one-way ANOVA the total sum of
squares comprises two main sources of
variance: within-groups variance and
between-groups variance. Each has the
same number of degrees of freedom.

d) In one-way ANOVA the total sum of
squares comprises two main sources of
variance: within-groups variance and
between-groups variance. Each has its
own number of degrees of freedom.

A hermeneutic approach to qualitative

researchinvolves

a) A process of self-discovery in which the
researcher reflects on his or her own role
inthe research process.

b) Attending to the meaning of particular
phenomena for those who experience
them.

c) Spending a lot of time in isolation,
guarantined from the outside world.

d) Use of basic statistical principles similar to
those that underpin distribution-free
tests.



68.

69.
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FafAca arell &RI &7 &ar 3R g &
AT & e Teh Agcaqul FhRIcHS
HEGEY (=0.62) Uhe BT &

a) FRI & AfAF g7 ¥ AT 39 Shad F
3T FIse g S &

b) i Reel & Shaer &1 @elr 1 sifrsaamon
3R & T HRT T TE&AT F 3TUR |
6 ST Thahr B

) T R & HROT fFE & qE A& g
arel T Jofelr A i8S ger gl I
AT &

d) R & Al g F IRUMH TIST Ag
gl

Teh AMeehcll Teh AT HAG T 3UANT
Feh Teh JANT AT ¢ Tora#H 8 fawa ga
¢ AR T wEeTcAS Feg oA 8 fawy
g &1 35y BerseT & fhaer fBaft
AT 87

a) 7

bp14

c) 15

d) 16

TS MEhdl Teh EI-UNeToT & g 3R
.0012 T 9-ATT Ued FIAT &1 TSl Hr
IS ATHRRT & IUR R Feafaf@d # I
il AT T 3UYF sy g2

a) WY&l & a1 HR & fow 95% faeara

AT H FHATIT I—AT 3AX AR AT g1

b) Y& & &g HR & T 99% faeard
3T H HATAT IR—T HR AT gramm

c) UHIT T 3THR 3T gl

d) IROTH Hgcaqol &

qifeghry faaRor AR fecaforgr & e
guidTcHs FfARadar ar aRada Aeadr

68. A significant positive correlation (=0.62)

69.

70.

71.

between number of cars owned and satisfaction

in life reveals

(a) That owning cars makes people more
satisfied with their life.

(b) Thatitis possible to predict someone's life
happiness partly on the basis of the
number of cars he own.

(c) That someone owing car is likely to be
happier than someone who does not.

(d) That the consequences of owning car are
unclear.

A researcher conducts an experiment using a
control group containing 8 subjects and an
experimental group containing 8 subjects.
How many degrees of freedom are there in
this experimental design?

(a) 7

(b) 14
(c) 15
(d) 16

Aresearcher conducts a t-test and obtains a p-

value of .0012. Which of the following is an

appropriate conclusion on the basis of the
information provided?

a) A 95% confidence interval for the
differences between the means will not
include the observed difference

b) A 99% confidence interval for the
differences between the means will
include the observed difference

c) Theeffectsize will belarge

d) Theresultissignificant

The amount of descriptive uncertainty or
change variation associated with statistical
statement and observations refers to

a) Descriptive error

b) Measurementerror

c¢) Randomerror

d) Randomvariation



72.

73.

74.
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76.

IFATTAT FifETr & TR & Fe=far@d

H Q@ Pl O Fu9 I TG &2

a) I AT § & e Ieos giehar &
gRome 39 & T IR & Thd o
fSrer fopell few are aner & wreT go O

b) g FAHEAT ST U SITehT HTol & &

¢) ¥E A W IR ¢ T aefeos
gihdTy Y TIER Hdl &

d) Ig 3facitehe] JHTETET & TR W Al
F X F 9T St ¥

Ife ey o713 #7110 90 &, aF Ig ATLT A

fohrdell AT faTel sHhEaAT § (8T &

5 1Q T ATET 100 3R AT ATl 15

g)?

a) 0.67

b) 1.5

c) 10

d) 95

T & @ Sl @1 Ay F e

fIaROT & aRk # gAAT FI BT 872

a) Ig T& FloUlaeh faaor &

b) IE 3l HT Tk HAATIAT TIROT &

) Ig AT & § STTHEAT HAlddh
el & sRIeX Alds Adold & g
IEGEGRETIRCILEN

d) ATt I A ATET HT AT AT
ST

Th W & TR H TR & 8GR Fead
T ¢

a) HETEOT

b) faraRoT

) o

d) faeror

T AT ST 3TcldT-37ereT A0 it goifar &
Y ¥ HEACHS §9 § FafSd #Fgr 8, hr
e ¢

a) Ueh ATHATT 39T
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Which of the following statements about

Inferential Statisticsis NOT true?

a) Itshowsthatarandom process could have
produced results as extreme as those
obtainedin a given piece of research

b) It draws upon information from sample
data

c) It draws upon knowledge of how random
processes behave

d) It makes statements about samples based
onobserving populations

If a student has an 1Q of 90, how many
standard deviation units is this away from the
mean (note that IQ has mean of 100 and
standard deviation of 15)?

a) 0.67

b) 1.5

c) 10

d) 95

Which of the following is always true of the

sampling distribution of the mean?

a) ltisahypothetical distribution

b) Itisanobserved distribution of scores

c) Iltwilltend to be normally distributed with
a standard deviation equal to population
standard deviation

d) The mean will be estimated by the
standard error

The spread of scores across levels of a variable
refersto

a) Covariance

b) Distribution

c) Range

d) Variance

A measure reflecting distinct categories that
have different names but the categories are
not numerically related to one another refers
to

a) Anominalmeasure

b) Aratiomeasure

c) Ascalemeasure

d) Anordinal measure
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T ALY T {qwcret &l gE A & &9
H sTaATS RIAT ST T &

a) foReIeT

b) Fe & adf faereret

c) AlTH TaaereT

d) faeror

Ife el T W uredient FF T &9 J

faaRa frar Srar g, ar Aefafaa # &

PlT AT FUT T AdT &7

a) W W TN TR FAA 3gicd & Ay
2w 1T ght

b) THR I fAROT #AET & IR & FAAT
e

c) ALY, AEY 3R Algel TR ST gl

d) 3TUEThcl & TH ThR gy

Ifg Xt W g, e & @ Fla-ar x&
AT SHSAT H AT HACT ST g2

a) TFH FI Ao

b) TFH I TIAT

) TFH &l Al [adeld

d) T ol JEIUT

T MEhdl Ig 9T o9l & folT T
eI AT & 5 oo av & aer
fohdell IR Sl & I 9T A| FEITT H
9T e & HET foar 3R 3 gant #r
IS AT Fr TEAT 2,5,7,4 3R 2 AN
ffaf@a d @ *la a1 sy a7 &

a) ITAT3AT &1 e sear 2 §

b) ATATT T 3T T&IT 2 §

c) AT &7 T TEaT 4 §

d) IrEATT ST AST T&AT 4 &

Tecerc-gT At o1 9T & gdefor & &9
# fohar Srar §

a) STE T

b) 3R faeaa=igdr

¢) 3aR-TaeTe ERAT

d) &R
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'Root mean squared deviate' could be used as
another name for

a) Skewness

b) Squared deviation from the root

c) Standarddeviation

d) Variance

If scores on a variable are normally distributed,

which of the following statements is NOT

true?

a) All scores on the variable will have been
observed with equal frequency

b) The distribution of scores is symmetrical
aboutthe mean

c¢) The mean, median and modal scores will
be equal

d) Therewill be relatively few extreme scores

If Xis a variable, which of the following is NOT
measured inthe same units as X?

a) MeanofX

b) RangeofX

c) Standarddeviation of X

d) VarianceofX

A researcher conducts a study to find out how
many times people had visited a doctor in the
previous year. Five people participated in the
study and the numbers of visits they had
made were 2, 5, 7, 4 and 2. Which of the
following statementsistrue?

a) The meannumber of visitsis 2

b) The median number of visitsis 2

c¢) Themedian number of visitsis 4

d) The modal number ofvisitsis 4

The split-half method is used as a test of
a) Externalvalidity

b) Internalreliability

c) Inter-observer consistency

d) Stability
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3URAT 3R Hohaehl & ST IR Ig & &

a) HehcTeh! & 3T &1 folell 7 3dfAfRa

FTURCT ¥ 318 drer ge9er §

b) 3UTAT FT e &I & IR HAT ST &
AR T e foram Sirelr § S T 9 U

3TURYT & YcTeT Hohdd o

¢) 39T TIsc AT § Sl ohdsh ATHTTY

AT FFT & IR U aa &
d) Hohder TASC ATET g, Sdfeh 39T
AfFaRF IR AT A M g0

HcA-AIfgfcas Iy &1 &7

a) Ueh AHHANGEEET T ST 39 gy

3R 39T T FY GE Sear &

b) HARIcalolel TN A 39 uge for@r

g 3R 39 33U FH F T H 9H
fear &
c)m%ﬁuaﬁﬁa’iﬁmﬁaﬁﬁa@
SYTAT dTd ahddl
d) fpelY 3R & FT &1 39AET F&T 3R

38 39T HIH FAl

aiffeas A & s) & PeAtarad & @

el AT YT FIH TEF g7

a) #rs o goa St gA= forem § i aeaa
H g o for@r § g8 Afds &0 4§ aod
¢l 3 off, Tk rfgcy TN 1 g fog

g fe@rer § fon gHel &1 Yer & 3K gAx

% I H FIT 9T g
b) 87 AT¥ad T & F& Fg TP ¢ &

AR 39« [9UR areda # Fel 9 379 &2

I A &Y dioT & T U T &oF v

FIfAA 1 ar gH FI 3N G gy Fr

3FAIG A8l T Hehd ¢
c)SeTe H "PrdT 3R I" FIAT S

3 § 6 3Sed &Y HIS VI AT B

Ife 3frd At feam mam &, O saA g

Hel §?
d) arfefcaes A SdaTT HdTeh T &

for g 9T ST arer oeT #F 39e HYst
QR Tl 39T T "9 ggalel o forw ameg

gletr 1few
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82. The difference between measures and indicators
isthat

a)

b)

d)

83.
a)

b)
c)

d)

84.

Indicators have a more direct relationship
to the underlying concept than measures
Measures are intuitively devised and then
applied as if they were direct indicators of
aconcept

Measures are unambiguous quantities,
whereas indicators are devised from
common sense understandings
Indicators are unambiguous quantities,
whereas measures are subjective and
value-laden

Whatis self-plagiarism?

An epistemological stance that justifies
your beliefand your opinion

Lifting material that you have previously
written and pass it off as own work

Talking about yourself too much in your
research documents

Using somebody else's work and passing it
off as your own

Which of the following statements about

plagiarismis mostaccurate?

a)

b)

)

(@)

Any suggestion that we have written what
another actually wrote is morally wrong.
Anyway, the whole point of a literature
review is to show what we have read and
what we thought about it

How can we say for sure where our own
ideas come from exactly? If we tried to
give a reference for everything we could
never hope to succeed

It is so easy to "copy and paste" from the
internet that everyone does it nowadays.
If a proper reference is given, where is the
harminthat?

Plagiarism is such an awful crime that
those found guilty should be obliged to
wearascarlet"P" ontheir clothing
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FHIETES Toat & foaw @ 3t §

a) fpdll d1aT & Y ¥ Uge 3T IR H
TARRIcHS glal

b) 31T TAT & M U= & Tesd 7 U=
ST 9GT § 3HePT Hodichel el

c) ATHAT & ATETH § TERfAT Fifeh @A
a e @e dfEeT &

d) egad TAaRT 3R faart & fov s
faRrefr gfeapror e

'ITIRS AT T AT &

a) AT fohdell T §T & Adfeied
TYROM3T # gfafaftca Fa g2

b) THT &g doh MUHAT I [T & T Tg
T a1 aRASEr o

c) sy yfgenfaat & e Shae & fow
grafaes & ar gr

d)al W & &g Iadd H Th HRUT &Y
¢ a1 e

Ife I reaTs g &, dr sqer
T g

a) Ig Teh HlafSad aMershe garT Harferd
foRam arar a1 9| W s foRar o
Gl &

b) frserst I 3= Ao afésw & fow
AT fHar ST Fhell §

c) ITURUMIT & AT dIR fhT a1 39y
fafeer 3wt W &R g §

d) 3TEUTT T A o fow fafet
TS §Y F gATCT ST I3AT §

aiRfeafada sifar &1 319 §

a) ¥g YR & gfadige Ser fagelyor =)
R fRar ST d@har &

b) HI 3T ¥ TTFAINT cIdgR & dX H
3TANT ofelel T JfE

c) ATt Y SoTehl Uepfden AfEaT & q@ar &t
IreTy

d) fAees & oaierourardr e aegh W
QYT AT 3T g
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'"Toread critically' means

a) Being negative about something before
youreadit

Evaluating what you read in terms of your
own research questions

c) Skimming through the material because
most of itis just padding

Taking an opposing point of view to the
ideas and opinions expressed

b)

d)

'Internal validity' refers to

a) How accurately the measurements
represent underlying concepts?

The degree to which the researcher feels
that this was a worthwhile project

c) Whether or not the findings are relevant
to the participants' everyday lives
Whether or not there is really a causal
relationship between two variables

b)

d)

If astudyis 'reliable’, this means that

a) It was conducted by a reputable
researcher who can be trusted

The findings can be generalized to other
social settings

c) The measures devised for concepts are
stable on different occasions

The methods are stated clearly enough for
the researchto be replicated

b)

d)

'Ecological fallacy' refers to

a) The assumption that secondary data
analysis can be carried outathome

The error of making inferences about
individual behaviour from aggregate data
c) The mistake of observing people in their
natural setting

The myth that it is easy to research
environmentalist action groups

b)

d)
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The secondary analysis of official statistics has
been seen asan unobtrusive method because

a)

b)

c)

d)

It increases the risk of reactive effects
from participants

The data were originally collected for the
same purposes as those of the current
researcher

The researcher is removed from the social
settings that they are investigating

They do not intrude too much into the
researcher's spare time

Setting the p level at 0.01 increases the
chances of making a

a)
b)
c)
d)

Typel error
Typell error
Typelll error
TypelV error

A test of statistical significance indicates how
confidentthe researcheris about

a)

b)
c)

d)

Generalizing their findings from the
sampleto the population
Passing their driving test

The inter-coder reliability of their
structured interview schedule
Understanding the difference between
bivariate and multivariate analysis

A'spurious' relationship between two
variables refers to

a)

b)
c)

d)

A relationship that appears to be true
because each variable is related to a third
one

An apparent relationship that is so curious
itdemands further attention

One that is so ridiculously illogical it
cannot possibly be true

One that produces a perfect negative
correlation on a scatter diagram
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a) Chi square

b) Cramer's V'

c) Phi

d) Spearman's rho
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The test that is used to assess the relationship
between two ordinal variables

a) Chisquare

b) Cramer'sV

c) Phi

d) Spearman'srho

In bivariate analysis, the function of a
contingency tableisto

a) Compare the results one might get from
various statistical tests

b) Lists the different levels of p value for tests
of significance

c) Show the results one would expect to find
by chance

d) Summarise the frequencies of two
variables so that they can be compared

Whatisan Outlier in statistical terms?

a) Ascore that is left out of analysis because
of missing data

b) A type of variable that cannot be
quantified

c) An extreme value at either end of a
distribution

d) The value which is beyond scope of
research

What is the difference between interval/ratio

and ordinal variables?

a) Interval/ratio variables contain only two
categories

b) Ordinal data can be rank ordered, but
interval/ratio data cannot

c) Ordinal variables have a fixed zero point,
whereasinterval/ratio variables do not

d) The distance between categories is equal
acrossthe range of interval/ratio data
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Theterm 'Triangulation'is closely related to

a)
b)
c)

d)

Allowing theoretical concepts to emerge
fromthe data

Cross-checking the results found by
differentresearch strategies

Drawing a triangular diagram to represent
the relations between three concepts
Using three quantitative or three
gualitative methodsinresearch

In mixed-methods research, quantitative and
gualitative findings should be

a)
b)
c)
d)

Containedin separate sections
Wellintegrated

Listed in order ofimportance
Shown fully in appendices

The term 'impact factor' (IF) refers to

a)

b)

c)

d)

Average number of citations received for
each published article in the particular
year

The total number of citations received for
each published article in the particular
year

The average number of publications in the
particularyear

The total number of publications in the
particularyear

Whatisrhetoric?

a)

b)
c)

d)

A technique used to assess the external
reliability of a data source

An ancient form of poetry

The attempt to persuade or convince an
audience, often through writing

The type of rapport that is usually
established in in-depth interviews
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